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Attempt any two questions.
All questions carry equal marks.
Answer may be written either in English or Hindi

FrrfaRea wei & @ f5el & 9l 3 SR 2
gl eet B o g &
MY IR ST orerar Rl # T Hepa B

Q.1 Sneha, Nidhi, Adeeba,” Uzma and Madhav made following observations about
prime numbers:

Sneha : Prime numbers can be really large but it is not possible to find out very
large prime numbers.

Nidhi s All prime numbers end with either 3 or 7.

Adeeba There are only finite pair of twin primes. There does not exist any twin
prime pair greater than 400.

Uzma : Positive difference between two consecutive prime numbers is not uniform.
The positive difference between two consecutive prime numbers increases
as the numbers become larger.

Madhav : RSA is the only method to find out prime numbers.

Do you agree/ disagree with above observations? Justify you choice. (10 Marks)
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“The government plans to train nearly 2,000 vendors in hygienic food handling to

ensure safe street food to Delhites” — News item reported.

In order to make an action plan you are asked to carry out a survey of vendors.
Prepare a questionnaire for such a survey. Also explain in brief how the data
collected by this questionnaire will help in making an appropriate action plan.

(10 Marks)
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Q.3 (a) Consider the following statements:
(1) Itis unlikely that it will snow in Delhi.
(i) Ihave my doubts if I will be able to reach the college on time today.

(iii) It is very likely that India will win more than 100 gold medals in the next
Commonwealth games.

(iv) Earth will not be able to send a human being to Mars in the next century.

Associate a probability with each statement. Give 1 — 2 line justification for your
answers.

(1.5 x 4 = 6 Marks)

(b) A child has alphabet blocks and she spells out the sentence

SHE SELLS SEA SHELLS ON THE SEA SHORE

The blocks are all mixed up and put in a box.

(i) Make a frequency table for each alphabet occurring in the sentence.

(i) If one block is picked up, find the probability of picking out an S.

(iii) If two blocks are picked up, find the probability of picking out both
the O.

(2 +1+1=4Marks)
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Consider the numbers
12,32, 66, 114, 28
Express each of these numbers as the sum of two primes.

How many numbers from 10 to 20 cannot be expressed as the sum of any two
primes?

What is the probability of picking out a prime number between 1 to 50 of the
from.

i 2"-1
(i) 2" +1.

(2.5 + 2.5 + 5 = 10 Marks)
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Note: The following question is not meant for the Visuaﬂy impaired students.
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Q.5 Following news items appeared in a newspaper:

YOUNG HEARTS AT RISK : STUDY

Of the 2500 healthy young individuals — both men and women screened, one —
Jfourth were found to be smokers, alcohol consumption was found to be prevalent in
one — third, obesity was observed in three — fourths, pre — hypertension was

present in two — thirds of those surveyed and 15% had pre — diabetes.

(a) Represent the details given in the above study in a suitable diagrammatic
format. Write in about 50 — 70 words your observations based on the diagram

that you have made.

(b) If a healthy young individual is chosen, from the survey what is the

probability that
i) the person smokes.
(i1) the person is suffering from pre — diabetes.

(8 + 2 =10 Marks)
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Note: The following question is for the Visually impaired students.
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Q.5 Following news items appeared in a newspaper:
YOUNG HEARTS AT RISK : STUDY

Of the 2500 healthy young individuals — both men and women screened, one —
Jourth were found to be smokers, alcohol consumption was found to be prevalent in
one — third, obesity was observed in three — fourths, pre — hypertension was

present in two — thirds of those surveyed and 15% had pre — diabetes.

(a) Find the number of people who
(i) smoke
(il) consume alcohol
(iii) are obese
(iv) suffer from pre — hypertension

(v) suffer from pre — diabetes.

Is the total number of people you get from (i) — (v) above equal to the total number
of people screened for the survey? Explain your findings.
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(b) If a healthy young individual is chosen, from the survey what is the
probability that

(i) the person smokes.
(ii) the person is suffering from pre — diabetes.

(8+2=10 Marks)
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